BARANE R - AAKETER (IBAEHET)

ARNTEREFSREHZFHT - AOKER

1T 4 AR X HE 5 z 5
AGERT Hh I AREHET 1,177 1,492 1,494 2,986
RiEhis iz 822 883 896 1,779
2K BT 7 $h 32§ AHET 7 206 210 240 450
AT R Hhig N 882 942 1,046 1,988
TR b i TR 1,050 1,207 1,381 2,588
=/ Eihig B/E 480 535 586 1,121
T BEEW 203 213 268 481
i 1w 104 143 152 295
iR ithig iR 263 292 351 643
s ZAR L 94 95 132 227
AR KE 914 1,037 1,080 2,117
it 2 Ehis dzE 483 534 551 1,085
B M-Af 165 185 187 372
LA 7ot R 200 222 226 448
F& Hhig Be 2,851 3,332 3,729 7,061
HHE A Hhig HES 1,951 2,270 2,530 4,800
ERAE) &g AEN&—~mTH 783 945 1,023 1,968
PR &Rz &EE~ATH 1,484 2,246 2,271 4517
M B A Hhig MRS 2,358 3,395 3,452 6,847
HE3E A Hhig HmES 2,322 3,377 3,462 6,839
LA Hhig wIlUE 1,743 2,571 2,593 5,164
20,535 26,126 27,650 53,776

BARAGFEEHF - AOEEF (I8 1LELET)

1T I 4 AR X N 5 z i
" e i3 H 189 236 286 522
AR FafaH 419 552 602 1,154
Jb 3 Ehig ITEE 417 571 582 1,153
B E Hhig BETE 665 852 896 1,748
HEF 56 55 83 138
- LR 137 175 182 357
BRI B3 243 339 369 708
ek 44 39 66 105
a1&E 52 72 89 161
tRo& 129 145 192 337
IRt ERithis +Ia3%F 73 92 110 202
+IH4AE 52 66 73 139
+IH5%E 102 126 138 264
+tih6e&E 166 184 217 401
+R7%& 67 82 85 167
L inraEbitig +in8&E 94 123 122 245
+IHo%E 109 119 135 254
El10& 90 96 118 214
WERXsN 27 25 30 55
= e X 4% 5 3 6 9
R4 70 58 71 129
3,206 4,010 4,452 8,462

ERk29F 128 KX H
THH 5 5 X H

BAAERARD 29,492 36,590 39,184 75,774
SEAERAO 197 280 246 526
KENMmAL 29,689 36,870 39,430 76,300

BAAFEREME- AOKETE (IBNE)

1T g £ AR X HEH 5 g 5

b b =] 245 292 308 600
BRI ZA/R 125 152 169 321
= H 109 138 153 291
P ki 66 78 90 168
IR PR AL KE 220 254 251 505
EIEFE 20 25 25 50
FEFTHT 172 175 203 378
HTHET Hh iz h#TET 138 152 158 310
AL FrHET 134 174 146 320
FaET 185 214 247 461
FG T 16 24 29 53
fin B thig chET 36 36 37 73
BT 98 101 120 221
& 87 89 116 205
i 139 144 188 332
" ERER—TH 50 54 66 120
BRI A1 ERER=TH 295 336 346 682
ERER=TH 59 79 84 163
Rill 56 47 62 109
Lz k 32 18 35 53
it 41 47 47 94
hnyse BAR ik ING L 58 57 61 118
INET 65 64 64 128
$£7 74 80 96 176
(LI 27 38 36 74
HERE 97 102 107 209
FeE) 5 112 133 151 284
AR 94 99 130 229
il 46 48 52 100
R R Hh i ® 33 36 38 74
BEKE& 62 63 73 136
IhVEF 72 72 94 166
mp 40 47 58 105
B 37 39 45 84
=i 38 40 48 88
B/ 12 14 17 31
N 5 5 4 9
7/ 33 39 43 82
ETF 22 28 27 55
W ITFF 15 16 21 37
SR e 10 13 11 24
=P 9 7 9 16
i35 4 3 2 5
N 13 11 15 26
bus 29 37 44 81
AR 46 54 72 126
FIN% & i EIGA= 2,375 2,680 2,884 5,564
5,751 6,454 7,082 13,536

FRE29F12A RIRTE

5% HIA R

X5 THHE z H

BARAERAO 29,442 36,564 39,161 75,725

SNEAEFERAO 197 281 247 528

KENHAQD 29,639 36,845 39,408 76,253
(BEH) (BH)

X5 ik z B X5 ik 5
Be—TH 773 808 950 1,758 WLE—TH 189 240 237 477
HEZTH 560 633 723 1,356 WUE=TH 0 0 0 0
WE=ZTH 277 321 344 665 WILE=TH 0 0 0 0
HemTH 211 265 286 551 WILEMTE 0 0 0 0
HWERTH 741 954 1,025 1,979 WILERETHE 117 183 186 369
H&EATH 87 104 116 220 WILENRTEB 247 367 372 739
HWELTH 202 247 285 532 WLEtETHE 481 737 731 1,468

HEE—TH 213 253 289 542 LA /N\T B 0 0 0 0
HEBZTH 249 315 333 648 WILEATE 20 25 31 56
HEEB=TH 8 9 10 19 BWLE+TE 325 480 504 984
HEBMTH 0 0 0 0 wea+—TH 272 418 420 838
HEBRTH 306 356 397 753 WueE+=TH 0 0 0 0
HEBNTHE 168 196 243 439 WueE+=TH 92 121 112 233
HEBSETH 340 382 424 806
HEEB/N\THE 370 454 490 944
HEBATH 297 305 344 649

KZINE—TH 337 404 427 831

KEZJINEZTH 101 124 126 250

KENE=ZTH 345 417 470 887

KZEINEWMTH 0 0 0 0

KEINERTH 238 393 385 778

REINEARTE 546 776 773 1,549 (&FH)

KENELTH 323 464 480 944 X5 ik i

KZINE/NTH 376 612 633 1,245 mmEe—TH 167 194 209 403

KEINEATH 1 1 0 1 EmE&E=TH 141 146 166 312
MEE—TH 510 768 708 1,476 ENE&E=TH 140 143 163 306
MEEZ=ZTH 131 206 202 408 FENEEmTH 117 131 151 282
MWRE=TH 246 345 377 722 FEINZEERTH 54 61 58 119
MWREMTH 264 345 366 711 EmnE&E/RTH 166 180 203 383
MEERTH 275 397 404 801 mAmEaetTHE 153 164 197 361
MEENRTH 411 578 594 1,172 EmEa/\TH 191 211 235 446
MWEREETH 299 466 470 936 EmEaenTE 187 207 230 437
MEE/NTH 222 290 331 621 mnEs+TH 179 205 210 415
m\EE—TH 291 308 326 634 EmxEe+—TH 256 289 291 580
W\EE-TH 378 538 546 1,084 EmE&sE+=TH 217 269 266 535
BEB=TH 365 568 609 1,177 Emxe+=TH 149 175 182 357
wBEAEMTH 299 455 471 926 Emxae+mTE 119 136 161 297
W\EERTE 372 598 615 1,213 Emxe+ETHE 139 169 162 331
HWEENTHE 332 593 561 1,154
WEELTE 284 316 334 650
HwmEE/\TH 1 1 0 1




